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I. 1.    

  

A CCE RR 
REVISED 
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Key 

Value Points 
Marks 

allotted 

 
Ans. : 

 (C) 4 1 

 2.  

 
 Ans. :  

 (D) 1
 
 1 

 3.  

 

Ans. :  

 (B) 
BC
BE

AC
DE

AB
BD

==  
1 

 4.  

 

Ans. :  

 (A) 120 cm3 1 
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Key 

Value Points 
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 5.  

 

 

Ans. :  

 (B)  1 

 6.  

 

Ans. :  

 (D) 25 1 

 7.  

 

 

Ans. :  

 (A) 3
1  

1 

 8.  

 

Ans. :  

 (C) 616 cm2 1 
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II.   

 9. 

 

Ans. :  

  1 

 Alternative answer : 

Unique  

 10. 
 

Ans. :  

 sec θ  =  
24
25

 
1 

 11. 
 

 

 

Ans. :  

 AC     ∴   ABC  =  90° ½ 

∴ BACABCACB ++ =  180° 

 50° + 90° + BAC  =  180° 

  BAC  =  180° – 140°  = 40°   ½ 1 
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 12.  

Ans. :  

   =  π r ( r + l ) 1 

 13. 

 

Ans. :  

      =  2 

  =  4 ½ 

∴ H.C.F.  of  ( 2, 4 ) is 2 ½ 1 

 14.  

 

Ans. :  

 P ( x )  =  2 3x  + 3 2x  – 11x + 6 

P ( 1 )  =  2 ( 1 ) 3  + 3 ( 1 )2 – 11 ( 1 ) + 6 ½ 

P ( 1 )  =  2 + 3 – 11 + 6 

P ( 1 )  =  0 ½ 1 

 15.  

 

Ans. :  

 ( x + 4 ) ( x + 3 ) = 0 

 

∴ x + 3 = 0 ½ 

 x  =  – 3 ½ 1 
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 16.  

 

Ans. :  

 AA 22 cossin +  = 1 

∴ cos2A  =  1 – sin2A   ½ 

 cos A  =  A2sin1 −  

 cos A  =  01 −  

 cos A  =  1   =  1.  ½ 1 

 17.  

 

Ans. :  

   

  2x  +  3y  =  11 ... (i) (i) — (ii) 

 2x  –  4y  =  – 24 ... (ii) 

 (–)   (+)        (+) 

 7y  =  35 ½ 

   y  =  
7

35  

 y  =  5 ½  

         y  =  5  in (i) 

 2x + 3y  =  11 

 2x + 3 ( 5 ) = 11 ½ 

 2x =  11 – 15 

 2x  =  – 4 

 x  =  
2
4

−  

 x  =  – 2 ½ 2 
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 : 

 2x + 3y  =  11 ... (i) 

 2x – 4y  =  – 24 ... (ii) 

2x + 3y  =  11 

 y  =  
3

211 x−
 ... (iii)  ½ 

 

     (iii)   (ii)   

 2x – 4y  =  – 24 

 2x – 4 ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −
3

211 x
  =  – 24 ½ 

 6x – 44 + 8x  =  – 72 

 14x – 44  =  – 72 

 14x  =  – 28 

 x  =  
14
28

−  

 x  =  – 2 ½  

         x  =  – 2   (iii)   

 y  =  
3

)2(211 −−
 

 y  =  
3

411 +
 

 y  =  
3

15  ⇒    y  =  5 ½ 
2 

   

   

   x  y  1 

 3  – 11  2  3 ½ 

 – 4  24  2  – 4  
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68

1
48224472 −−

=
−−

=
−

yx  
 

  
14
1

7028 −
=

−
=

yx  ½ 
 

 
14
1

28 −
=

x
 

14
1

70 −
=

−
y

 

– 14 x  =  28 – 14y  =  – 70 ½ 

 x  =  
14

28
−

 y  =  
14
70

−
−

 

 x  =  – 2 y  =  5 ½ 2 

 18.  

Ans. :  

 5 + 10 + 15 + ....... 

    20S  = ? 

a  =  5 d  =  5 
2
nSn =  [ 2a + ( n – 1 ) d ]  ½ 

 n  =  20 
2
20

20 =S  [ 2 × 5 + ( 20 – 1 ) 5 ]  ½ 

   20S  =  10 [ 10 + ( 19 ) 5 ] 

   20S  =  10 [ 10 + 95 ]  ½ 

   20S  =  10 × 105 

   20S  =  1050 ½ 2 

 19. 

 

 

Ans. :  

 P ( x ) = 2x2 – 6x + k  

 P ( x ) = 2ax  + bx + c    
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  β  a           a  = 2       b  =  – 6      c = k. 

 α + β  =  
a
b

−  

α + β  =  
2

)6( −−
 ⇒  α + β  =  3 ½ 

 α × β  =  
a
c  ⇒  

2
k

 ½ 

∴ (α + β )  =  
2
1

 × ( α × β )  ½ 

  3  =  
22

1 k
×  

 3 × 2 × 2 = k  

  ∴ k  =  12 ½ 2 

 20. 

 

Ans. :  

 2 2x  – 5x – 1  =  0 

a 2x  + bx + c = 0 a = 2 b =  – 5 c  =  – 1 ½  

 Discriminant    Δ  =  2b  – 4ac  

  Δ  =  ( – 5 )2 – 4 ( 2 ) ( – 1 )  ½ 

  Δ  =  25 + 8 

  Δ  =  33 

 ∴ Δ  > 0 ½ 

∴  ½ 2 

 21. 

 

Ans. :  

 cosec A ( 1 – cos A ) ( cosec A + cot A ) = 1 

  ( LHS ) ( RHS )  
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 LHS  :  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
+−

A
A

A
A

A sin
cos

sin
1)cos1(

sin
1

 ½ 
 

  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ +−
A

A
A

A
sin

cos1
sin

cos1
 ½ 

 
A

A
2

2

sin

cos1 −
 ½ 

 
A

A
2

2

sin

sin
  =  1 ½ 

∴ LHS  =  RHS. 2 

 OR  

 
1sec
1sec

sintan
sintan

+
−

=
+
−

A
A

AA
AA

 

 LHS RHS  

 LHS  :   
AA
AA

sintan
sintan

+
−

 ½ 
 

 

 
A

A
A

A
A
A

sin
cos
sin

sin
cos
sin

+

−
 ½ 

 

⎥
⎦

⎤
⎢
⎣

⎡
+

⎥
⎦

⎤
⎢
⎣

⎡
−

1
cos

1sin

1
cos

1sin

A
A

A
A

 ½ 

 
1sec
1sec

+
−

A
A

 ½ 

∴ LHS = RHS. 2 

 22.  

 

Ans. :  

 ( 2,   3 )    ( 4,  7 ) 
( 11 , yx )   ( 22 , yx )  
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allotted 

 ∴   

 =  
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡ ++

2
,

2
2121 yyxx

 ½ 

 =  ⎥
⎦

⎤
⎢
⎣

⎡ ++
2

73
,

2
42

 ½ 

 =  ⎥
⎦

⎤
⎢
⎣

⎡
2

10,
2
6  ½ 

 =  [ 3,  5 ]  ½ 2 

 23. 

 

 

 

Ans. :  

 n ( S ) = 6 S =  { A, B, C, D, E, I } ½ 

n ( A ) = 3 A =  { A, E, I } ½ 

∴ P ( A )  =  
)(
)(

Sn
An

 ½ 

 P ( A )  
6
3   =  

2
1

 ½ 
2 
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 n ( S ) = 8 S =  { 1,  2,  3,  4,  5,  6,  7,  8 } ½ 

n ( A ) = 4 A =  { 1,  3,  5,  7 } ½ 

∴ P ( A )  =  
)(
)(

Sn
An

 =  
8
4  ½ 

 ∴ P ( A )  =  
2
1

 ½ 
2 

 24.  

Ans. :  

 Angle between the radius  =  180° – 60°  =  120°  

 

  

    — ½ 

   — ½ 

  —  1 2 
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 25. 

 

Ans. :  

 3   

 ( b ≠  0 )  b  a  

                                   b
a

=3  ½ 

                                   

 
 

3b  = a  ½ 

  223 ab =    

∴   3  2a  

∴   3   a 

∴ a  =  3c   ½ 

 

 22 93 cb =  

i.e. 22 3cb =  ½ 

                      3  2b  

 ∴    3  b  

∴  ½ 

 

            ½ 

  3    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 
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 i) H.C.F.  of  ( 306,  657 )  

 

 

 

306  = 3   ×   3   ×   2  ×  17 

 1½ 

 

 

657  = 3   ×   3   ×   73 

H.C.F.  ( 306,  657 )  =  9 ½  

 ii) LCM of 9 and 12 ½ 

 

 

∴   LCM of 9 and 12 is 36 ½ 

 

3 

   

 i) H.C.F. of  ( 306,  657 )  

   2 

 306 657 

  612 657  =  ( 306 × 2 ) + 45 ½ 

    45  

   6 

 45 306 

  270 306  =  ( 45 × 6 ) + 36 ½ 

    36  

   1 

 36 45 

  36 45  =  ( 36 × 1 ) + 9 ½ 

    9  
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   4 

 9 36 

  36 36  =  ( 9 × 4 ) + 0 ½ 

    0  

  ∴ H.C.F. of  ( 306,  657 ) is 9.  ½  

 ii) LCM of 9 and 12 

 

 

∴   LCM of 9 and 12 is 3 × 3 × 4 ½ 

 

3 

   ∴ LCM ( 9, 12 ) is 36  

 26. 

 

Ans. :  

 

 

  ½  

   BC = x  

   AC = x + 60 ½  
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Nos. Value Points Marks 

allotted 

 

 ∴ AB  =  x + 30 

  ABC,   B  = 90° 

  222 BCABAC +=  

 ( x + 60 )2  =  ( x + 30 )2 + 2x  ½  

 2x  + 120x + 3600  =  2x  + 60x + 900 + 2x  

2x  + 120x + 3600  =  2 2x  + 60x + 900 

∴ 2 2x  – 2x  + 60x – 120x + 900 – 3600 = 0 ½ 

 2x  – 60x – 2700 = 0 

 2x  – 90x + 30x – 2700 = 0 

 x ( x – 90 ) + 30 ( x – 90 ) = 0 

 x – 90  =  0 x + 30  =  0 

 x  =  90 m x  =  – 30 m ½  

 ∴ BC  =  x  =  90 m 

 AB  =  x + 30  =  90 + 30  =  120 m ½ 

 Diagonal  AC  = x + 60  =  90 + 60 = 150 m 3 

   

 

 

  ½  

 BC = x   

∴ Altitude is 6 more than its base. 

∴ AD = x + 6     
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allotted 

= 108 cm2 ½ 

 A  =  
2
1

 × b × h  

 108  =  
2
1

 × x × ( x + 6 )  ½ 

 108 × 2 = 2x  + 6x  

 216  =  2x  + 6x  

∴ 2x  + 6x – 216  =  0 ½ 

 2x  + 18x – 12x – 216 = 0 

 x ( x + 18 ) – 12 ( x + 18 ) = 0 

 x + 18  =  0 x – 12 = 0 ½ 

 x  =  – 18 x  =  12 

 ∴ BC = x = 12 cm 

  AD  =  x + 6 ½ 

  AD  =  12 + 6  =  18 cm. 3 

 27. 
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Ans. : 

 A ( 0,  6 ) B ( 8,  0 ) C ( 5,  8 ) 
 )( 11 yx  )( 22 yx  )( 33 yx   

   Δ ABC  =  [ ])()()(
2
1

213132321 yyxyyxyyx −+−+−  ½ 

  =  
2
1

 [ 0 ( 0 – 8 ) + 8 ( 8 – 6 ) + 5 ( 6 – 0 ) ] 

  =  
2
1

 [ 0 + 16 + 30 ] 

  =  
2
1

 × 46.  ½ 
 

   Δ ABC  =  23 cm2   

  A ( 0,  6 ) B  ( 8,  0 ) 
 ),( 11 yx  ),( 22 yx   

 AB : d  =  2
12

2
12 )()( yyxx −+−  ½ 

  d  =  22 )60()08( −+−  

  d  =  22 )6()8( +  

  d  =  3664 +  

  d  =  100  ½ 

  AB  =  d  =  10 cm  

 ∴   Δ ABC  =  
2
1

 × b × h  ½ 

  23  = 
2
1

 × AB × CD  

  23  = 
2
1

 × 10 × CD  

  46  =  10 CD  ½ 

   CD  =  
10
46   =  4·6 cm 

3 
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Nos. Value Points Marks 

allotted 

 

 

  ½  

 A ( 8,  – 4 ),        B ( 9,  5 ),       C ( 0,  4 ) 

 d  =  2
12

2
12 )()( yyxx −+−  

 

 AB  =  8281191))4(5()89( 2222 =+=+=−−+−  ½  

 BC  =  82181)1(9)54()09( 2222 =+=−+=−+−  ½  

 CA  = 12864648)8())4(4()80( 2222 =+=+−=−−+−  

  ½  

 We observed that   BCAB =  ½ 

 82  cm  =  82  cm   

∴  Δ ABC ½ 3 

 28. 
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Ans. : 

 C.I. ( if )  

0 — 5 8 

5 — 10 9 

10 — 15 5 

15 — 20 3 

20 — 25 1 
 

 

   l = 5 

   1f  = 9 

 0f  = 8  1 

   2f  = 5 

   h  =  5  

  =  l  +  
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

−−

−

201

01
2 fff

ff
 × h  ½ 

 

  =  5 +  ⎥
⎦

⎤
⎢
⎣

⎡
−−×

−
5892

89
 × 5 

 

  =  5 +  ⎥
⎦

⎤
⎢
⎣

⎡
−− 5818

1
 × 5 ½ 

 

  =  5 +  ⎥
⎦

⎤
⎢
⎣

⎡
−1318
1

 × 5 
 

  =  5 +  ⎥
⎦

⎤
⎢
⎣

⎡
5
1  × 5 ½ 

 =  5 + 1  

  =  6 ½ 3 
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 29. 

 

Ans. :  
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   i) Y-axis  X-axis — ½ 

  ii) — 1½ 

  iii) — 1 3 
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 30. 

 

 

Ans. :  

 

  

 : In  Δ ABD BC : CD  =  1 : 2 

 In  Δ ABC  AB  =  BC  =  AC  

:   22 7ACAD =  

  :   Draw  AE ⊥ BC  1 

 : In Δ ABC  

 BE  =  EC  =  
2
a

  and  AE  =  
2
3a  

 

   AED   =  90°     Δ ADE 

 222 EDAEAD +=  

 
22

2
2

2
2
3

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
++⎟

⎟
⎠

⎞
⎜
⎜
⎝

⎛
=

aaaAD  ½ 
 

 
 

22
2

2
5

4
3

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
+=

aaAD  ½ 
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4

25
4

3 22
2 aaAD +=  

 
4

28 2
2 aAD =  ½ 

  22 7aAD =  

 22 7ACAD =  Q   AC  =  a  ½  

  3 

 31. 
 

Ans. :  

  

 

  ½  

  

  P   O  :   

 ½  

 : PQ  =  PR ½  

 : OP  OQ,  OR   ½ 

: Δ POR    Δ POQ   
 PQO  =  PRO    

 (   ) 

 hyp  OP  =  hyp  OP  ( ) 

 OQ  =  OR  ( Radii of same circle )  

  ∴ Δ POQ  ≅   Δ POR    ( R.H.S. theorem )  ½ 

 ∴ PQ  =  PR  ½ 3 
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   ½  

   :   

PQ = PR      ½ 

ORP   OQP        ½ 

 ½  

  Now right angles  OQP  =  ORP    

   OQ  =  OR   ½ 

  OP  =  OP    

 ∴  Δ OQP  ≅   Δ ORP    ( R.H.S. ) 

(CPCT)  PQ  =  PR.   ½ 3 
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 32. 

 

Ans. : 
 

   OAB    =  2
360

rπθ
×  

 

   =  2121
7
22

360
30

×××  

  =  
2

2111×
 1 

  =   
2

231
 cm2 

 

   OCD  =  2
360

rπθ
×  

 

   =  77
7
22

360
30

×××  
 



 CCE RR 27 81-U 

 RR (A) - 1119  [ Turn over 

Qn. 
Nos. Value Points Marks 

allotted 

  =  
6

711×
 1 

  =   
6

77  cm2 

 ∴  =   —  

   OAB   OCD  

   =  
6
77

2
231

−  ½ 

  =  
6

77693 −
 

  =   
3

308
6

616
=   

 ∴   =  102·6 cm2 ½ 3 

   

   =  πr  

  11  =  πr  

  11  =  
7
22  × r   ⇒  r  =  

2
7

 = 3·5 cm.  ½ 
 

  =  2rπ  

  =  
7
22  × 3·5 × 3·5 

  =  11 × 3·5 
  =  38·5 cm2 ½  

  =   

 ∴ Side AB  =  2 × radius 
   =  2 × 3·5 
  AB  =  7 cm ½  

 ∴     =  Side × Side 

  =  7 × 7 

  =  49 cm2 ½  

 ∴ =  —  

  =  49 – 38·5 ½  

   =  10·5 cm2  ½ 3 
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 33. 

 

Ans. :  

 

  

  1 

 ½ 

 ½ + ½ 

A l BC l   ½ 3 

 34. 
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Ans. : 

   2x + y  = 8  

  y  =  8 – 2x  

 x 0 1 2 3 4 

y 8 6 4 2 0 
 

 

   x + y  = 5  

  y  =  5 – x 

 x 0 1 2 3 4 

y 5 4 3 2 1 
 

 

  Tables — 2 

 —  1 

 —  1 4 

 Note : For each line any two points may be taken.  
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 35. 
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Ans. : 

 

 

  ½  

 
  →  648 km/h ⇒  

3600
1000648 ×

 

  ⇒  180 m/sec.  ½  

  10 =  180 × 10 

  =  1800 m/sec 

  OC = x       CD  =  1800 m/s        OD = 1800 + x   
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 OAC C  = 90° tan θ  =  

OC
AC  

   tan 60°  =  
x
h  

   
x
h

=3  1 

  h  =  3x    ... (i)  

 
 ODB D  = 90° tan θ  =  

OD
BD  

   tan 30°  =  
x

h
+1800

 

   
x

h
+

=
18003

1  1 

  3h   =  1800 + x   ... (ii)  

  

 33 ×x   =  1800 + x  

 x × 3  =  1800 + x  

 3x  =  1800 + x  

 3x – x  =  1800 

 2x  =  1800 

 x  =  
2

1800
  =  900 ½ 

∴ h  =  3x   

 h  =  900 × 3  ⇒  900 × 1·73 

 ∴ h  =  1557 m.  ½ 4 
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 36.  

Ans. :  

 

 

  ½  

   : In Δ ABC  and  Δ DEF  

 BAC
 
=  EDF

 
 ½ 

 ABC
 
=  DEF

 
 

: 
DF
AC

EF
BC

DE
AB

==  ½ 

:  

 AG = DE    AH  =  DF,    G H.  ½  
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 Proof : 

  

Δ AGH  Δ DEF   

 AG  =  DE  

 GAH
 
=  EDF  

 

 AH  =  DF  ½ 

Δ AGH  ≅   Δ DEF SAS 

 AGH
 
=  DEF  CPCT 

But  ABC
 
=  DEF  

 

⇒  AGH
 
=  ABC  Axiom - 1 ½ 

∴ GH || BC  

  

∴ In triangle ABC 

 
HA
AC

GH
BC

AG
AB

==  

 

Corrollary of Thales theorem ½ 
 

 

 Hence  
FD
AC

EF
BC

DE
AB

==   ∴  Δ AGH  ≅   Δ DEF.  ½ 
4 

   

 

 

  ½  
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 A
 
=  D

 
,  B

 
=  E

 
   C

 
=  F

 
  ½ 

  DP = AB   DQ = AC   PQ,  So,  Δ ABC  ≅   Δ DPQ. 1  

   B
 
=   P

 
=  E

 
   PQ || EF   

 ∴ 
QF
DQ

PE
DP

=  

i.e., 
DF
AC

DE
AB

=  1 

,   
EF
BC

DE
AB

=  

   
DF
AC

EF
BC

DE
AB

==  1 
4 

 37. 
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Ans. : 

   =  5 mm 

 ∴   =  2·5 mm 

  =  14 mm ½  

 ∴  h  =  14 – 5 

  h  =  9 mm ½  

 ∴   =  2πrh + 2 ( 22 rπ ) ½+½ 

  =  2πr [ h + 2r ] 

  =  
7
222 ×  × 2·5 [ 9 + 2 × 2·5 ]  ½ 

  =  
7
222 ×  × 2·5 × 14 ½ 

  =  2 × 22 × 2·5 × 2 ½ 

  =  88 × 2·5  

 ∴   =  220 mm2 ½ 4 

   



 CCE RR 37 81-U 

 RR (A) - 1119  [ Turn over 

Qn. 
Nos. Value Points Marks 

allotted 

 30
1

2

1 h
r
r

=  ... (i)  ½ 

  =  
27
1

 ×  

2
2

21
2

1 3
1

27
1

3
1 hrhr ××××=× ππ  ½ 

 

  2
2

21
2

1 27
1 hrhr ××=×  

 30
27
1 2

21
2

1 ××=× rhr  ½ 

 
9

10
12

2

2
1 =×h

r

r
 ... (ii)  ½ 

 

   

  
9

10
30 1

2
1 =×

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
h

h
 ½ 

 
9

10
900

3
1 =

h
 

 3
1h  =  1000 ½ 

 3
1 1000=h   

 AB  =  1h   =  10 cm ½  

 ∴   

  BP  =  AP – AB  

   =  30 – 10 

  BP  =  20 cm ½ 4 



81-U 38 CCE RR 

 RR (A) - 1119   

Qn. 
Nos. Value Points Marks 

allotted 

 38. 

 

Ans. :  

 a  =  b + 3 ... (i)  ½ 

 7a  =  28 

a + 6d  =  28 ... (ii)  ½ 

 298 =b  

b + 7d  =  29 ... (iii)  ½  

 Substitute (i) in (ii) 

 a + 6d  =  28 

 b + 3 + 6d  =  28 ½  

  b + 6d  =  25 ... (iv)  ½  

   

  b  +  7d  =  29 

 b  +  6d  =  25 
 (–)  (–)       (–) 

  d  =  4 ⇒  d  =  4 ½  

  

 a + 6d  =  28 

 a + 6(4)  =  28 

 a + 24  =  28 

  a  =  28 – 24 

  a  =  4 ½  



 CCE RR 39 81-U 

 RR (A) - 1119  [ Turn over 

Qn. 
Nos. Value Points Marks 

allotted 

  

 b + 7d  =  29 

 b + 7(4) = 29 

 b + 28  =  29 

  b  =  1 ½  

 ∴   

  a,  a + d,   a + 2d,  .............. 

  4,  4 + 4,   4 + 2 (4), .............  

  4,  8,  12, ............  ½  

 ∴  

  b,  b + d,   b + 2d,  .............. 

  1,  1 + 4,   1 + 2 (4), .............  

  1,  5,  9,  ............  ½ 5 
 
   


